

































## Simplified Image Irradiance Equation

Assume that

- the object has uniform reflecting properties,
- the light sources are distant so that the irradiation is approximately constant and equally oriented,
- the viewer is distant so that the received radiance does not depend on the distance but only on the orientation towards the surface.

With these simplifications the sensor greyvalues depend only on the surface gradient components p and q.

$$\mathsf{E}(\mathsf{x},\mathsf{y}) = \mathsf{R}(\mathsf{p}(\mathsf{x},\mathsf{y}),\mathsf{q}(\mathsf{x},\mathsf{y})) = \mathsf{R}(\frac{\partial \mathsf{z}}{\partial \mathsf{x}},\frac{\partial \mathsf{z}}{\partial \mathsf{y}})$$

"Simplified Image Irradiance Equation"

R(p, q) is the reflectance function for a particular illumination geometry. E(x, y) is the sensor greyvalue measured at (x, y). Based on this equation and a smoothness constraint, shape-from-shading methods recover surface orientations.

18



**Characteristic Strip Method** Given a surface point (x, y, z) with known height z, orientation p and q, and second derivatives  $r = z_{xx}$ ,  $s = z_{yx}$ ,  $t = z_{yy}$ , the height z+ $\delta z$  and orientation p+ $\delta p$ , q+ $\delta q$  in a neighbourhood x+ $\delta x$ , y+ $\delta y$  can be calculated from the image irradiance equation E(x, y) = R(p, q). Infinitesimal change of height:  $\delta z = p \, \delta x + q \, \delta y$ Changes of p and q for a step  $\delta x$ ,  $\delta y$ :  $\delta p = r \, \delta x + s \, \delta y$   $\delta q = s \, \delta x + t \, \delta y$ Differentiation of image irradiance equation w.r.t. x and y gives  $E_x = r R_p + s R_q$  $E_y = s R_p + t R_q$ Choose step  $\delta \xi$  in gradient direction of of the reflectance map ("characteristic strip"):  $\delta x = R_p \, \delta \xi \quad \delta y = R_q \, \delta \xi$ For this direction the image irradiance equation can be replaced by  $\delta x/\delta \xi = R_p \quad \delta y/\delta \xi = R_q \quad \delta z/\delta \xi = p R_p + q R_q \quad \delta p/\delta \xi = E_x \quad \delta q/\delta \xi = E_v$ Boundary conditions and initial points may be given by - occluding contours with surface normal perpendicular to viewing direction - singular points with surface normal towards light source. 20

## **Recovery of the Shape of a Nose**

Pictures from B.K.P. Horn "Robot Vision", MIT Press, 1986, p. 255





superimposed

nose with crudely quantized greyvalues characteristic curves



superimposed elevations at characteristic curves

2

Nose has been powdered to provide Lambertian reflectance map

**Shape from Shading** by Global Optimization Given a monocular image and a known image irradiance equation, surface orientations are ambiguously constrained. Disambiguation may be achieved by optimizing a global smoothness criterion.  $D(x, y) = \left[E(x, y) - R(p, q)\right]^{2} + \lambda \left[\left(\nabla^{2} p\right)^{2} + \left(\nabla^{2} q\right)^{2}\right]$ Minimize violation of reflectance violation of smoothness constraint constraint Lagrange multiplier There exist standard techniques for solving this minimization problem iteratively. In general, the solution may not be unique. Due to several uncertain assumptions (illumination, reflectance function, smoothness of surface) solutions may not be reliable. 22



## **Analytical Solution for Photometric Stereo** For a Lambertian surface: $E(x, y) = R(p, q) = \rho \cos(\theta_i) = \rho i^T n$ <u>i</u> = light source direction, <u>n</u> = surface normal, $\rho$ = constant If K images are taken with K different light sources $\underline{i}_k$ , k = 1 ... K, there are K brightness measurements $E_k$ for each image position (x, y): $E_k(x, y) = \rho \underline{i}_k^T \underline{n}$ In matrix notation: $\underline{\mathbf{E}}(\mathbf{x}, \mathbf{y}) = \rho \mathbf{L} \underline{\mathbf{n}} \quad \text{where } \mathbf{L} = \begin{bmatrix} \mathbf{i}_1^{\mathsf{T}} \\ \vdots \\ \mathbf{i}_{\mathsf{K}}^{\mathsf{T}} \end{bmatrix}$ $\underline{\mathbf{n}}(\mathbf{x},\mathbf{y}) = \frac{\mathbf{L}^{-1}\underline{\mathbf{E}}(\mathbf{x},\mathbf{y})}{\left\|\mathbf{L}^{-1}\underline{\mathbf{E}}(\mathbf{x},\mathbf{y})\right\|}$ For K=3, L may be inverted, hence $\underline{\mathbf{n}}(\mathbf{x},\mathbf{y}) = \frac{\left(\mathbf{L}^{\mathsf{T}}\mathbf{L}\right)^{-1}\mathbf{L}^{\mathsf{T}}\underline{\mathbf{E}}(\mathbf{x},\mathbf{y})}{\left|\left(\mathbf{L}^{\mathsf{T}}\mathbf{L}\right)^{-1}\mathbf{L}^{\mathsf{T}}\underline{\mathbf{E}}(\mathbf{x},\mathbf{y})\right|}$ In general, the pseudo-inverse must be computed: 24